
2. a) sine
=

cos8
= —jj. lanG =

Cs’ 8 = 3 sec 8 = —3 cot o

b) Sin , cos8 8

mc 8 = , SeC 8 = —, cut 8
=

8 15 S
r) Sm 9= cm 8 = —73; ianO

= —jj.

Cs’ 8 3 sec 8
=

cob t

Ia) — b) c) —I d)2 e)—v’

J) —Vi k)V2 I) —2 4.a) —0.34
b) —009 c) 1.49 ii) —3.08 e) 0.62
1) —0.18 g) —2.37 6) —0.84 1)3.86
j) —0,77 k) —1.00 1)0.98

15 17 2425 12 5S.a)-j-.-j- b)-jj.-3. c)jj-

2029 9 4
d)- e)jp-- fl

6. a) 135’ b) 120° c) 20°
a) 150° 1) 150’ gj 35’
I) 50° j) 150° k) 35°

7. a) 115° Ii) 125’ c) 105’
a) 145° 1) 112° g) 152°
j) gr _j) 113° It) 141°

vri 3
8. a) ——-i—, 124° 6) ——=, 113°

c) —, 103° d) —2, 117°

Vi 28
a) —j-—, 108’ fl jj. 148°

9..) sin (180° + 8)— —csc(l80° ÷

ens (180° ÷ 8) = _!; sec (180° ÷ 0)

ran (ISO’ + 9) car (180° + 8) =
S y

b) sin (360° — 8) = — csc (360°
— 8) = —

cal (360° — 8) = Sec (360° — 8) =

ian (360° —8) !;cot(3600
— 8) —

10. a) — 6)

£ y

e)—V3 I)
ii. a) 65°, 115°

d) 200°, 340°
g) 145’. 325’
j) 115’, 245’

r.osscice.

Use a calculator to find the value of each trigonometric mile to 3 decimal places.

a) sin 980 b) tan 113’ c) cos 124° d) sec 174° a) mc 161’ 0 cot 143’

For each obtuse angIe 8, state the six trigonometric ratios.
a) b) c)

S

01

3. Evaluate each trigonometric ratio. Give exact answers.
a) cm 120° b) sin 150° c) cot 135° d) mc 150°
g) tan 120° Ii) cot 120° i) sin 120° j) cot 150°

4. Evaluate each trigonometric ratio to 2 decimal places.
a) cos 110° b) cot 95° c) csc 138° d) tan 108°
g) sec 115° h) cot 130° i) mc 165° j) cos 140°

ANSWERS

I. a) 0.990 6) —2.356
d) —1.006 a) 3.072S

e) Sec 135° 0 sin 135°
k) csc 135° I) sec 120°

a) sin 142° f) tan 170°
k) sec 175° I) sin 100°

C) —0.559
0 —1.327

5. Given 6 is an obtusc angle and the value of one trigonometric ratio, find the other

thgonomethc ratios.

a) sinS = ;findtan8andsec6

c) sec 8 = —; find sin0 and cot 8

b) tan U = —; find cos Sand mc 8

d) cot U = —; find cos 8 and csc 8

e) cosO= —;findsin8andcot8 f) csc0=;findian8andsec8

6. Find each value of 0 if 8 is obtuse.

a) sin 0 = b) sec 8 = —2 c) tanS = —Vi

g)-V1 h)
Vi

e) cscO=2 fl cot8 —Vi g) cot8 —l

2
i) cos8—-— j) sec8=— k)tanO—I

7. Find each value of 8 to the
a) sin 8 = 0.906
d) cot 8= —1.428
g) tan 6 = —0.532

j) csc 8 = 1.086

d) cos 8 = —

H) sin 8 =

I) csc 8 =

tanS = —3.732
secO —2.669
cot 8 = —0.123

I) sec 8 = —1.010

nearest degree if 8 is obtuse,
b) cas 8 = —0.574 c)
e) csc8= 1.743 1)
h) sin 8 = 0.978 i)
It) cos 8 = —0.777

8. Given 8 is an obtuse angle and the value of one trigonometric ratio, find the other

trigonometric ratio, and 6 to the nearest degree.

45
3’ 3

d) 135°
6) 120°
I) 35’
d) 145°
h) 102’

I) 172°

3
a) sinS = find secOndS

c) cos 8 = —; find cot SandS

e) tanS = —3; find csc Oand8

b) cot U = —; find cm Sand 8

d) mc 8 = find tan 8 and 8

fl seeS = —;findsin8and0

9, Ii U is an acute angle defined by P(x,y), usex. y, and r to define the six

trigonometric ratios of: a) (180° + 0) b) (360° — 8).

10. State the value
a) sin 225°
d) sin 270°
g) cos ISO’

S

of each ratio exactly. Draw a diagram to illustrate each angle.

b) cos24O° c) cot 210°
e) tan 300° f) sec 315°

H) mc 330° i) sec 360°

r

I I. State two values of 6 to the nearest degree for each trigonometric ratio.

.,. a) sin 5 = 0.906 b) cos 0 = —0.616 c) tan 8 = —5.671

6% d) csc 8 —2.924 e) sec 8 = 1.743 1) cot 8 = 2.145

g) lan 8 = —0.71fl H) sec 8 = — 1.155 I) sin 6 —0.966

j) ens 8 = —0.423 k) csc S = 1.035 I) cotS = —2.747

c)V3

v2 -i
6) 128°, 232°

a) 55°. 305°
h) 50°, 210°

It) 75’, 105°

d) —l

6) —2 I)
t) 00°, 280°
0 25°, 205’

I) 255°. 285’
I) 160°,340°
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